| Efficiency vs Dxy |
> 0.1
<

S : : : : : : : : :
0,004

B

Q : : : : : : : : :
@07_ """" A s Fromrreieeeed e B froeee

T

e s s e o B
OO
003

0 R e s
0 1

OJ--\-Q-IIIIiIIlli””i””il Iillllillllillllillll

Rati

O%bs “S5TIET16 =5 0 B 16 1530 25

TP dxy (cm)

—_——

| Efficiency vs Dz | |—— 1B

M_V0001~R000000001" Global”

—a— U§IVI VUUUL RUUDUUUOUL — GIoDdal

MRETOTginal___RECO
RECO

—V0001~R000000001_Global—_mkFitNew

mkFitNewHpTt_ RECO

—V0001~R0O00000001—Global——mkFitNewDetg —RECO

—mkFitNewDett "RECO

—— D M_VOOOl_R000000001_G|Oba|
N 0.1 ; ;

$.09 e S— S— SRR —
3 1 L .
i T S S S R
[&] . N N N N
.07 S e R TR R—
o : : : : :
0.06 R A o R .
005l
0.04 E VR — {0 R

0.03 é n-g ........... ; .......... i_JL_g ___________
0.02 E'-"-E ......... S 5 -
0.01 '

OJ_.LQllllillllillll!llllillllillll

L 4

93020 -10 0 10 20 30
TP dz (cm)




	Contents
	Page 1


